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Answe1 ALL questlons
PART A—(10x2= 20 marks)

What is locatlon aware computmg" :

State any four factors to be’ conmdered for variations in client server mo'del'

Compaie the commumcatmg entltles Ob]ect components and web services.

“Tlered awhltectures are complemental v to 1ayer1ng o Comment

_ What is Napst_ex?

‘ Défine Gnutella.

List the methods to ensure serializability.
State the issues in Clocks.

Dré‘w the piétort_'ial representation of lifecjrcle of Javé' Thread.

,'_Whaf is User-Mode Scheduling (UMS)?.

PART B - (5 x 18 = 65 marks)'

4

(a) (1)  What is the need for dlstnbuted system'? LlSt the dlstnbuted '

systems challenges - . 7 o 5)

'Z—(ii).._ Identify the five types of hardware resource and five types of data
‘ -or software resource ‘that can be shared efficiently. Give examples.(8)
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(b)

1) Elaborate the ~design issues to be consldeled fo1 spontaneous
: netw01k1ng S : {b)

(ii) - A user arrives at a railway station for the first time, carrying a

- PDA that is capable of wireless networking. Suggest how the user

. could be provided with information about the local services and
~ amenities at that station, without entering the station’s naime or
attrlbutes What are the techmcal challenges to be addlessed‘? (8)

(1) DISCUSS on Dlstubuted Shaled Memmy (DSM) w1th suitable - .

'ﬂlustxatmns SR o - (8

._ '(ﬁ) 001131de1 a simple server that carries out client requests w1thout
' accessing other servers. Explain why it is generally not possible to-

set a limit on the time taken by a server to respond to a client
~request. What should the server do, to e(eoute _requests within a
bounded time? A o N . 3 . (5)

_ - .-Or-,. o _
()  What is Publish-Subscriber. Systems‘? Explaln 1ts chalactenstlc

features with neat sketch. . - o &

‘_‘(ii) Clasmfj and tabulate the albltlary failules with 1espect to class,

daffects and cornments - e ‘ _ . (5)

What is Pastly'? Explam the Pastlys Routmg Algonthm wit_h‘
pseudo code o o ‘ L (13,)_

Or |

(D) E\plam Flle Service Alchltecture and Andlew File System with

suitable sketch. . : . (10)

(i) State the dlfferencee between Oveijlay neﬁivorks and TP routmg_. (3)

(i) State the plobienls in Cristian’s algorithm. Explain how Berkeley

. ,algonthm overcomes the ploblems of Custlan 5 algouthm with neat

. sketch. : . ‘ e (8)
(ii) Describe the Cent1a1 Seve1 Algonthm w1t11 neat sketch State its-
perfonnance measures. o . D ()
- Or ' ‘ '
Elu(:ldate Coda ar clntectule with Lespect to file systeme commumcatlon
" coda. and p1ocesses in coda with necessary block dlagl ams. (13)
(i) State the issues 1n'load balancmg al’gorlthms. L o B)
(i) ‘What is Process Migration? State the issues’in migration. Describe . .
Negotiation in Migration process W_ith neat sketch.- - s 8
v O]‘j . co -

(1) Give a brief acconnt‘on desired features of séhedtiling algorithms.(5)

(1) Define Thread. Elucidate the actions involved in'multithreaded

.. architecture and multiﬁhreaded models with appropriate sketch. (8)
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PART C-—(1x 15 = 15marks) .

A client makes remote procedure calls to. a server. The client takes

5 milliseconds fo compute the arguments for each. request, and the server

takes 10 milliseconds to process each request. The local operating system

processing.-time for each send or receive opération is 0.5 milliseconds, and -
the network - time to transmit each request or reply message is
3 milliseconds. Ma1sha111ng or unmalshalhng takes 0.5 nnlhseconds per

message -

(i) 'Calculate the time taken by the client to gene1ate and return ﬁom )
. two requests ;. : -

(1) if it is smgle threaded and _ SR (4)

@ if it has‘two threads that can make 1equests concurrently on a
smgle processor. Context- switching time can be ignored.  (8)

(i)’ Is there a need for asynchmnous RPC if client and server. processes .

are threaded? = 7 - (3) B

Or S

(i) - A client attempts to sy11o11ronize with a time server. It records the -

- round-trip times and timestamps returned by the server is given in
the table below. Which of these times should it use to set its clock?
To what time should it set it? Estimate the accuracy of the setting
with respect to the server’s clock.

Round-trip (ms) . Time (hr:min:sec)

22 - 10:54:23.674
25 10:54:25.450
Y200 10:54:28.342

If the minimum time between sending and leceiving a message in
the system is 8 ms, is there any change i in the denved solution? = (7)

(i) " Two processes P and Q aré connected in a ring using two channels

and they constantly rotate a message m. At any one time, there is
only one copy of m in the system, Each process’s state consists’ of
the number of times it has received m and P sends m first. At a
. certain point P, has the message and its state is 101. Immediately -
after sending m, P initiates the snapshot algorithm. Explain the
-operation of the algonthm in this case, giving the possible global -
state(s) reported by the algouthm ' ‘ : (8)
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